A Algebra: Expansion of brackets
1 a(a+2b) 2 a(6-3b+c)

4 5aQa+ > —4b)

7 (@+2)a+1)
10 (a+2)(a+4)

5 ——6a(—23ﬁ + 3b)
8 (a-2)@a+1)
11 (a-4)(a+2)

B Algebra: Solving equations by removing two numbers

Solve the equation for a:

1 2a—6=-18 2 3g+9=27
4 —3a—1;—10 5 3a+1=16
7 2% __18 g —2%_3g
Tt 3
10 at+1=_3 11 —a+1=6
4 2

C Algebra: Solving quadratic equations
Solve the equations:

1 4*=100 2 b*=16
B2
4 3a*>=192 5 _z-=
7 (@a-1)a+3)=0 8 (a+2)a-3)=0
10 (a+@-5=0 11 a>+5a+6=0
13 @*-3a+2=0 14 g*-a-12=0

D Indices: Negative indices
Express the following with postive indices:

1 x_l A 2 y—2
4 a-'b-! 5 3agb-?
7 5q2b~?2 8 6a~%b
10 2-3ab 11 3~%
13 4-la7! 14 5-'a~?
16 (5by! 17 (9a3)"!
19 Ta~%c 20 8a~%?
E Indices: Fractlohal indices
Evaluate:
S .
1 492 2 642
1
- 1
2 ol
s 2 5 82
3
L | 1
7 2(162—3} 8 27° x5
1 1
el - 2
10 12 +13 1 2 ;8

3
6

9

12

3

6
9

12
15

12

3 —a2-4b-0)
6 —4(%+2b—3)

9 (a+3)a+4)
12 (a ‘—v6)(aA— 2)

a’+11=60

(a+1)(a+2)=0‘
(a—6)(a+2)=0
2-2a-8=0
2+a-12=0

ab~!
4a%h—3
3a-2~*%
3-1¢
Qa)-!
2a-3

1
3% 1002

1

15 + 252

1
643 +8
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@ + 2ab

2
-2a + 4ab + ac 4
—4a® - 18ab 6
a+3a+2 8
a+Ta+12 10
a-2a-8 12
-6 26 3 3
49 7 22 8 -12
=11 12 -7
+10 2 +4 3
+4 6 -1, -2 .7
6, -2 .10 5,-1 11
1,2 14 4, -3 15
1 2 Lz 3 2
x y b
44> 5a* 6b
T a
& & @l
9 3 4a
Loyl o2
5b 9a a
7 2 8 3 30
20 7 2 8 15
5 12 5

. 6a—3db+ac

10a* + 3a — 20ab

-a-8b+12
a-a-2
a+6a+8
a-8a+12
4 3 5 -5
9 31 10 -13
+7 4 18
1, =3 8 3,-2
-3, -2 12 4,-2
3, -4
R
ab b*
3 ab
9 peTE 10 e
1 1
14 — 15 —
S5a* 2a .
Tc 8
19 22 20 P
4 1 5 2
9 12 10 2



